Chapter 9 Review Questions 


Questions:


1.
Nonrivalry and nonexcludability are the main characteristics of:


A)
consumption goods.   


B)
capital goods.   


C)
private goods.   


D)
public goods.

2.
Which of the following is an example of a public good?

A)
a weather warning system   


B)
a television set   


C)
a sofa   


D)
a bottle of soda

3.
An example of a public good is:

A)
broadband Internet access.   


B)
homeland defense.   


C)
a baseball.   


D)
a lawn mower.

4.
A positive externality or spillover benefit occurs when: 

A)
product differentiation increases the variety of products available to consumers. 

B)
the benefits associated with a product exceed those accruing to people who consume it. 

C)
a firm produces at the P = MC output. 

D)
economic profits are zero in the long run. 

5.
A negative externality or spillover cost occurs when: 

A)
firms fail to achieve allocative efficiency. 

B)
firms fail to achieve productive efficiency. 

C)
price exceeds marginal cost. 

D)
the total cost of producing a good exceeds the costs borne by the producer.
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6.
Refer to the above diagram in which S is the market supply curve and S1 is a supply curve comprising all costs of production, including external costs.  Assume that the number of people affected by these external costs is large.  Without government interference, this market will result in:

A)
an optimal allocation of society's resources.

B)
an underallocation of resources to this product.

C)
an overallocation of resources to this product.

D)
a higher price than is consistent with an optimal allocation of resources.

7.
Refer to the above diagram in which S  is the market supply curve and S1 is a supply curve comprising all costs of production, including external costs. Assume that the number of people affected by these external costs is large. If the government wishes to establish an optimal allocation of resources in this market, it should: 

A)
not intervene because the market outcome is optimal. 

B)
subsidize consumers so that the market demand curve shifts leftward. 

C)
subsidize producers so that the market supply curve shifts leftward (upward). 

D)
tax producers so that the market supply curve shifts leftward (upward). 
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8.
Refer to the above competitive market diagram for product Z. Assume that the current market demand and supply curves for Z are D2 and S2. If there are substantial external benefits associated with the production of Z, then: 

A)
efficient resource allocation occurs at output G and price B because the market mechanism does not measure all benefits. 

B)
an output smaller than G would improve resource allocation. 

C)
government should levy a per unit excise tax on Z to shift the demand curve toward D1. 

D)
an output greater than G would result in a more efficient allocation of resources. 

9.
Refer to the above competitive market diagram for product Z. Assume that the current market demand and supply curves for Z are D2 and S2. If there are substantial external costs associated with the production of Z, then: 

A)
a price lower than B and an output greater than G would improve resource allocation. 

B)
government should levy a per unit excise tax on Z to shift the demand curve to the right. 

C)
government should levy a per unit excise tax on Z to shift the supply curve toward S 1. 

D)
government should subsidize the production of Z to lower equilibrium price and increase equilibrium output. 
Answers:

1. D

2. A

3. B

4. B

5. D

6. C

7. D

8. D

9. C
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